P-1

4daysitigiBEL>Iaf/aR

20205 2HBH(E) ~ 202052A1TE(HMK)

AR WRI) T [EYR TR * k% * ok ok * * ok k% *

FTERHIRR : PAR x 2 I NONNARONONONCRUNCONC) @O O @ B @ G G O ®

HDCPLERR: (58) 36.0 (%) 36.0 {&=:

HDCPFEE: (B8) 0.0 (& 0.0
&5z BE A 7™ 4> | GROSS | HDCP | NET s B E AL 79 k| 4> | GROSS| HDCP | NET
B Baq 43 41 84| 15.6] 68.4/% ML (723D 47 51 98| 22.8] 75.2
B FHd 43 40 83 12.0/ 71.0/% 261 \+H% E 50 48 98| 22.8| 75.2
L |41 AhFx 45 47 92| 20.4] 71.6/% 4361 |2 +H Fk 52 46 98| 22.8| 75.2
TANE Sy E NN 42 50 92| 20.4] 71.6|% M (325 h 40 45 85| 9.6/ 75.4
56 [ HhEL 45 43 88| 15.6] 72.4/% AN S o B 44 47 91| 15.6| 75.4
6 =X/ o 47 53| 100| 27.6| 72.4/% 4641 |/ V4 = 45 46 91| 15.6| 75.4
ML |\ hARHA 41 40 81| 8.4] 72.6/% 41 |4 F 55 48] 103] 27.6| 75.4
8 TN 44 42 86| 13.2] 72.8/% 485 | E 42 42 84 8.4] 75.6
Mt | +HT< 45 46 91| 18.0[ 73.0[% 0 (>S54 46 44 90| 14.4] 75.6
1062 |H A 46 51 97| 24.0/ 73.0/% 5061 | ZAhnNSY O 44 46 90| 14.4| 75.6
RENRS, 44 46 90| 16.8| 73.2 5160 444 47 43 90| 14.4] 75.6
1261 |8 = 45 44 89| 15.6| 73.4 5261 |9/ 40 43 83 7.2| 715.8
13 (ARHS 48 47 95/ 21.6| 73.4 531 HH+ 44 45 89 13.2| 75.8
14651 |2 X/ A 39 43 82| 8.4/ 73.6 541 v<AHD 47 48 95/ 19.2| 75.8
1561 [ 43 51 94| 20.4| 73.6 55( |44 47 48 95 19.2| 75.8
1661 (3L HD 47 47 94| 20.4| 73.6 56 FHLS 46 49 95/ 19.2| 75.8
1762 |3+ 48 45 93| 19.2| 73.8 5761 | E b+ 56 51 107| 31.2| 75.8
18 = X4 = 50 49 99| 25.2| 73.8 58 41T 42 40 82/ 6.0/ 76.0
1961 [\ F k 39 35 74 0.0] 74.0 5961 | T4 39 43 82/ 6.0/ 76.0
2061 [ ES/ 45 47 92| 18.0| 74.0/% 606z |54 47 41 88 12.0] 76.0
AL DARIC4VES 48 49 97| 22.8] 74.2 616 +hHLS b+ 43 45 88/ 12.0/ 76.0
20 | AF % 50 53|  103] 28.8| 74.2 6261 |H 46 48 94/ 18.0| 76.0
2361 (3 vv 51 52/ 103| 28.8| 74.2 636 |7/ 54 46/ 100] 24.0/ 76.0
241 2/ 39 39 78] 3.6| 74.4 64GL | <A 52 48/ 100| 24.0/ 76.0
2560 FSE R 47 43 90| 15.6| 74.4 651 EYAH A 46 41 87/ 10.8| 76.2
2661 X</ 51 45 96| 21.6| 74.4 666 |19 54 45 99| 22.8] 76.2
2160 | A A4 = 50 46 96| 21.6| 74.4 674 |+ = 53 46 99| 22.8| 76.2
2861 | LS5 49 46 95 20.4| 74.6 684z A HhF 43 43 86| 9.6/ 76.4
2941 |[29HF 51 50| 101| 26.4| 74.6 691 |<ILA 50 48 98/ 21.6| 76.4
06 | wwH T 57 44 101] 26.4] 74.6/% 1061 |WoH= 50 48 98| 21.6| 76.4
ML |74 44 44 88/ 13.2| 74.8 NnEL |45 = 50 48 98/ 21.6| 76.4
261 [T A 40 41 81| 6.0/ 75.0 1261 |2 E b+ 53 51 104| 27.6| 76.4
ML | FEFH 37 50 87| 12.0/ 75.0 BhL | BFA > 52 52/  104| 27.6| 76.4
UL v H A 51 42 93| 18.0| 75.0 461 |35 & 39 46 85 8.4 76.6
3L | FHA= 44 49 93| 18.0| 75.0 1561 | B4 % 43 42 85| 8.4] 76.6
366L |1 FH 44 49 93| 18.0| 75.0 71661 | ESA 43 48 91| 14.4] 76.6
3L | v HFx 46 47 93| 18.0| 75.0 6L 4T 39 52 91| 14.4] 76.6
/L |74 52 47 99| 24.0| 75.0 1861 |AH=E T+ 48 49 97| 20.4| 76.6
96GL |14k 49 43 92| 16.8| 75.2 1961 |[v<E+ 42 48 90 13.2| 76.8
0 |v<4 H 48 44 92| 16.8] 75.2[% 80 | ;FHEL 44 52 96| 19.2| 76.8
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4daysitigiBEL>Iaf/aR

20205 2HBH(E) ~ 202052A1TE(HMK)

BEAE WRY T EYR R k ok ok * ok ok * *x ok kK *

FTERHIRR : PAR x 2 I NONNARONONONCRUNCONC) @O O @ B @ G G O ®

HDCPLERR: (58) 36.0 (%) 36.0 {&=:

HDCPFER:  (58) 0.0 (%) 0.0
&5z BE A 7™ k| 4> | GROSS| HDCP | NET B 15z B E AL 79 k| 4> | GROSS| HDCP | NET
816L (244 55 47| 102] 25.2] 76.8 121461 | L5 4 51 53 104| 25.2| 78.8
8261 (£S5 / 57 51| 108] 31.2| 76.8 12201 |04 47 63 110] 31.2| 78.8
83GL B2 AN 49 46 95/ 18.0| 77.0 1236 | A A X F 58 57/ 115] 36.0/ 79.0
84 | = 46 49 95/ 18.0] 77.0 1244 | 7Hv~< 44 46 90| 10.8| 79.2
85 |3/ 47 54/ 101| 24.0/ 77.0 12562 [ ASay 42 48 90| 10.8] 79.2
866 vY<E b~ 51 50/ 101| 24.0/ 77.0 1266 | +ha= o 47 49 96| 16.8| 79.2
876 |44 % 44 50 94| 16.8] 77.2 1276 ([ EAHLE = 50 46 96| 16.8| 79.2
8861 v A 54 46] 100| 22.8| 771.2 128431 | A /NS 52 50,  102| 22.8/ 79.2
89 AL A= 60 52  112| 34.8] 77.2 12961 | hoo< 47 55/ 102| 22.8] 79.2
0% =vhH7 13 45 48 93| 15.6] 77.4/% 1304 |+ F+ 51 51 102] 22.8] 79.2/%
91 a4~ 43 50 93| 15.6| 77.4 13142 | 754 53 55/ 108 28.8] 79.2
241 417U %E 53 52 105| 27.6| 77.4 13261 |24 = 44 51 95/ 15.6| 79.4
QG |41hD 50 48 98| 20.4| 77.6 133431 | /Ny 50 45 95/ 15.6| 79.4
9441 | Sy 54 50| 104| 26.4| 77.6 13442 | Ay 48 47 95/ 15.6| 79.4
956 = hT < 56 54/ 110| 32.4| 77.6 1356 | o4 47 48 95/ 15.6| 79.4
966G [T kY 42 43 85| 7.2| 71.8 13662 | T LS 50 51 101 21.6| 79.4
0761 (A A 48 43 91| 13.2| 77.8 13761 |[v =+ 53 60 113] 33.6/ 79.4
Bz ILAH 45 46 91| 13.2| 71.8 138431 | A4 4 48 46 94| 14.4| 79.6
9L | HHhA 45 46 91| 13.2| 77.8 13962 |75 4 46 54/ 100] 20.4 79.6
100432 [/\2 52 49 54/ 103| 25.2| 77.8|% 1404 | =& 48 52/ 100| 20.4| 79.6 %
10142 |2 7+ 4 51 52 103] 25.2| 77.8 14141 |7 ¥4 = 53 53] 106| 26.4 79.6
1024 | =S LS 53 50/ 103| 25.2| 77.8 14261 | =Y LS 61 51  112] 32.4) 79.6
1034z |[wvEY) 51 58 109| 31.2| 77.8 1434 |1 T 49 44 93] 13.2| 79.8
10442 |2 HD 52 57| 109| 31.2| 77.8 14441 | R X 53 46 99| 19.2| 79.8
1054 |2 X4 47 49 96| 18.0| 78.0 1454 |/ 2% A 44 55 99| 19.2| 79.8
10642 |av < 46 56| 102| 24.0/ 78.0 1464z | < v+ 52 53 105| 25.2| 79.8
1076 |[+Hh4= = 58 50/ 108| 30.0| 78.0 14761 | 2>x 47 45 92| 12.0] 80.0
1084 | hH v~ 59 49| 108] 30.0| 78.0 14861 | R ¥y~ 51 47 98| 18.0/ 80.0
109431 |+ H 4 55 46 101] 22.8| 78.2 1496 | A A EHY 51 47 98| 18.0| 80.0
Mot |=xTH7 E 47 54/ 101| 22.8] 78.2|% 15042 | v R E b 46 52 98| 18.0/ 80.0|%
ML |24 A 50 51| 101] 22.8| 78.2 151462 | A A/ 50 54 104] 24.0/ 80.0
121 |7V LS 50 51| 101 22.8| 78.2%%RBE@ 1526 =4 T 55 49  104| 24.0/ 80.0
1134 [ R 47 47 94[ 15.6] 78.4 19361 |74 H 58 52/ 110| 30.0/ 80.0
A (324 50 56| 106| 27.6| 78.4 15441 |[+H=% 56 47 103 22.8| 80.2
154 | = T4 A 50 43 93| 14.4| 78.6 1554 |TH % 51 51  102| 21.6| 80.4
N64L | A A 51 48 99| 20.4| 78.6 1564 |4 & 51 51  102] 21.6] 80.4
N |4 4 47 52 99| 20.4| 78.6 1574 |WwoH= 48 54 102| 21.6| 80.4
M8 |[w<ryF 53 46 99| 20.4| 78.6 15862 | A NS 60 48] 108] 27.6] 80.4
ML | FhALs 46 46 92| 13.2| 78.8 1594 | HhE b 54 54 108 27.6| 80.4
1204 |74 48 44 92| 13.2] 78.8/% 1604 |\ & 59 55|  114| 33.6] 80.4/%
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4daysitigiBEL>Iaf/aR

20205 2HBH(E) ~ 202052A1TE(HMK)

mEAE WRYT [EYR TR * k% * ok ok * * ok k% *

FTERHIRR : PAR x 2 1 NONARONONONONONONC) @O O @ B @ G G O ®

HDCPLERR: (58) 36.0 (%) 36.0 {&=:

HDCPFEE: (B8) 0.0 (& 0.0
&5z BE A 7™ k| 4> | GROSS| HDCP | NET s B E AL 79 k| 4> | GROSS| HDCP | NET
16141 | v <% 49 52| 101| 20.4| 80.6 201461 |wYE k 59 57/ 116] 27.6| 88.4
162651 | hoo5 59 54/ 113] 32.4| 80.6 20261 | < E b 60 61 121] 32.4/ 88.6
16361 |2 842 XS 50 56| 106| 25.2| 80.8 2034% |[HH % 58 63 121 32.4/ 88.6
1644 |5/ 55 51| 106] 25.2| 80.8 2044% |7RY) o F 58 65| 123] 33.6| 89.4
1654 |4 S L5 51 55/ 106| 25.2| 80.8 2056 NH<H 57 71 128] 36.0/ 92.0
16642 |2 +H E 58 54/ 112] 31.2| 80.8 2066z |2+H 3 68 60, 128) 36.0/ 92.0
1676 |2 AN Y 59 52|  111] 30.0/ 81.0 20761 | A A= 62 66/ 128/ 36.0/ 92.0
1684 | A H 4 58 53 111] 30.0/ 81.0 20741 | R = 61 67 128] 36.0/ 92.0
1696 | £ A o 57 54/ 111] 30.0/ 81.0 20941 | FHv < 70 57| 127 34.8) 92.2
17042 |2 N\S 53 64| 117| 36.0/ 81.0 21062 | A A4/ 60 65| 125/ 31.2| 93.8 %
1714 | <+ h 63 54/ 117| 36.0/ 81.0 2161 | F+H=% 71 59| 130| 36.0/ 94.0
1724 | v <45 T 60 50/ 110| 28.8| 81.2 21261 [ EHSYS 65 66/ 131] 36.0/ 95.0
173465 |+ H 7 52 51| 103| 21.6| 81.4 21361 |>any 66 57 123] 27.6| 95.4
17445 |=xT4 2 52 51| 103] 21.6| 81.4 21461 | hoHx 70 64 134] 36.0/ 98.0
17561 | R A& 50 56/ 106| 24.0| 82.0 2560 A Hh4H5 58 76/ 134| 36.0/ 98.0
17641 |4 74 61 57| 118] 36.0| 82.0 21662 |2 LS 66 69| 135/ 36.0/ 99.0
17741 |4 0 52 52| 104| 21.6| 82.4 2761 [ &Y 4 71 65/ 136 36.0| 100.0
17841 | Ko 60 50, 110| 27.6| 82.4 21861 |2 +H A 67 70, 137| 36.0| 101.0
17945 |4 k5 54 56| 110| 27.6| 82.4 20906 | A#A42= 2 72 65/ 137| 36.0| 101.0
1804 |4 =4 3 48 55/ 103| 20.4| 82.6 2206% | E 4 62 76/  138] 36.0 102.0 %
1814 |/ 2% 4 52 56| 108| 25.2| 82.8 22161 |V HD 74 70, 144] 36.0| 108.0
1824 |\ 50 58| 108| 25.2| 82.8 BB |h44H 73 73 146| 36.0| 110.0/BB
1834 |7 AR 59 55| 114] 31.2| 82.8 BM 47+ 69 83| 152| 36.0/ 116.0/BM
1844 | AAE ) 53 54/ 107| 24.0/ 83.0
1851 |55 = 48 58/ 106| 22.8 83.2 ABZDHIZITAEIADNTNET,
18602 # 475 57) 49| 106| 22.8 83.2 BRI 2ATaANL3ALAIS. BBIFVELET.,
18741 |[ES A% 52| 56 108 24.0 840 ESNEE. B TCRRESELEBLET.
1884 |4 <A 58 56| 114] 30.0| 84.0
1894% |4 /1S 57 63| 120| 36.0| 84.0 EBEITILIFYoR—2DFFEBBIEL, 11241 (L150%)Z2EBYET,
1904 | o< 4 52 60 112] 27.6| 84.4 RBKXK=QAIB. 2B. 7THOLWI ) DTEAIL. 3A3H~8HLEIC
19141 |[EHS 59 58/ 117| 32.4| 84.6 FEENAFICTHOTCERNSETIEEET,
192 |4 +4h E 55 471 102| 16.8| 85.2
1934z |4/ 56 59| 115 28.8| 86.2
1944 |04 = 59 58/ 117| 30.0| 87.0
1954 | AHh & 56 67| 123| 36.0/ 87.0
1964 | koA = 69 54/ 123| 36.0| 87.0
19741 |2 5 4 54 67| 121| 33.6| 87.4
1984 |2 A& 57 62| 119| 31.2/ 87.8
19941 | R X & 57 67| 124] 36.0/ 88.0
20043L |A A% = 63 60| 123| 34.8 88.2
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